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! D C B A Questions / = Ul JP/./
| 9.8ms2 8.87ms2 3.73ms2 274 2ms-2 _ =il g | 1
The value of 'g' on sun is; ]
) - 4 B it - Vi !
RN f..CjCﬂ/ ‘{."‘CA%} ny RS red | ny L-)*-’ch{ sk 2{,[.{/:: Ve 192 l)’i:‘:. ZWd ,Jd:f U/x_f';gg 2
is situated at its ;‘;; Ziul’;mg'“ ilf is at the lowest | is at the highest | A body is in neutral equilibrium when its center of ;
bottom dishiaced - ;" ;omugn -, Position gravity: _,
Pavdd B Losn g i F i fiy '
| In 13;1;5’77.._1;_ i ﬁdﬁ_ s JT UL’M&:U'G.g)u_V»LU:}Ubd_/CgI.b:.r(d_’}f;.f(! 3
Fine marble Which material e Qo H’U"";'% 53
Air powder Water 0il lowers friction when pushed between metal plates?
| B Jz 22 » ‘eS| 4 / ;
! Newton Joule Second Meter The unit of force is: -
Sz IS S s Jf’f/ :?Jmfuﬁydﬁfﬁfgraj 5 C}_
T
Random motion | Vibratory motion | Rotatory motion | Circular motion The motion of body about an axis is called:
I 0.001mm Imm 0.01mm 0.lmm S ._*.:;KMK&}_/‘I 6
. The least count of screw gauge is:
VA Ly S ¥ il ibipuid LFe gbenr| 1
! Fiber glass Plastic Metal Wood For quick heat transfer sauce pan are made of:
!’ & ’ &, 4, P e i
g’-ldy u—g/ _ L;":f :I;()L‘-OL :??("&J;]Jw[/”ij‘ﬁ}__f; 8 |
Radiation Convection l Conduction T;iﬁgﬂﬁr In gases heat is mainly transferred by: |[ |
ok 273K 32°F 0°F Te-beordegfAU/0 9 |l <&
1 Water freezes at: |
—
105Nm2 102Nm-2 I Nm~2 104Nm-2 o b L] 10 |
One Pascal is equal to: |
. . = = . b N = = _]
TN R~ S GAkL OBl s | 1 |
Kinetic energy | Nuclear energy | Potential energy | Chemical energy | The energy due to motion of body is called: {
GAl | ek Gy A cdmditl | 1 |
Kinetic energy | Chemical energy |  Heat energy Nuclear energy |The energy stored in coal is: |
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(Part-1 J3l 4aa )
Write short answers to any FIVE parts. ...’Jg.;mﬁé,rméga_dl
What is least count of vernier callipers? How it is measured? “::'.Jb;{éj_l_;d’uﬂ ?rr:yl;fa.c;igb‘rﬁ"ﬁjfgﬁu (i)
Write 6000km and 3800km in standard form. & J(;GLJ&?)’ 3800km usf 6000km (i)

L

=

FR-GI

Differentiate between nuclear physics and atomic physics. _“éuyu"/‘{_ﬁ‘_/;’_f L‘Le;l;_,'/)"/':.";c' (iii)
Define rotatory motion and give one example. _ésdb,ﬁ;slgi - /"’-Jutfd s (iv)
Convert 36kmh ™! into ms~!. -E:gJ.M ms~15 36kmh™! (W)

) e Pl S WUty §U (vi)
Y.:'_.Gl‘pnﬁ_}[ﬁc.&l3J,Tuk/:£u:,’{2_f1£_/=ﬂ£c}? (vii)

Why does oiling the moving parts of a machine lowers friction?

Why is it dangerous to travel on the roof of a bus?

t0d e QW2 T Qe bl Grs i (v
Write short answers to any FIVE parts. _Qayliz/ﬁ'érrz fsu‘br:..df
Define couple and give its example. ..e_ﬁ:d@d,..)‘b:i{.f_éy‘.’.;(g{ (i)
Why the height of vehicles is kept as low as possible? %.8'._70‘:;){ f’ ...ﬁwc)‘a Jlf;fgfu.f}b' (ii)
-y Sy Sanil  Gii)

?‘LG::U.L{ ___g"}‘{ LJRG-I’:—-‘E b( g (iv)

When a gun is fired, it recoils. Why?

Define field force and gravitational field strength.
Why does the value of 'g' vary from place to place?

What s the difference between artificial and natural satellites? e GV LS W dimsse )
Define mechanical energy and write its types. ‘.é}‘ljidl m.»:f._-:;’-f -3 /“'.JJ.)I < (vi)
Define Joule and Watt. “EE Sz (vii)

P OIS Yt oS pie 1S 15ms-t ALk 500 (viii)
A stone of 500g is thrown up with a velocity of 15ms~!. Find its kinetic energy.
Write short answers to any FIVE parts. ..é.‘.-.uzﬁ'&szrég.:.df
Define pressure. What is the unit of pressure in SI system? . L2 J WS A Y-V ()
State Pascal's law. ool FL i
-E UMty S G

Differentiate between strain and tensile strain,

Define specific heat capacity and write its mathematically form, _a‘u“’dquﬂ-g - f-U’Jj l;»'fJJI/.J’:‘y (iv)
Define latent heat of vaporization. -5‘;‘:‘.— - /‘?J-"-J'Ejd? [!c}?;r'bz__:-: (v)
What is green house effect? e -L-Qz-?-lu_‘ji,cg 7 (vi)
Define thermal conductivity. _gf-.'l i /7;,5’ i ::‘( i J/; (vii)

- EWIRSFERSE (i)
..uj'/:) 09 L vz -g{{f;&iﬁﬁaﬂfry@d’( pdgd das

Part - II, Attempt any TWO questions. Each question carries 09 marks.

Write four methods of reducing friction. --&F&.}zgﬁd..fﬂ‘:;{’ ()
S S I L LS hoi2100 - § s s AL R AL 05ms o HoSetnpidi (L)

?Jx‘_bfd kmh-!

A train starts from rest with an acceleration of 0.5ms-2. Find its speed in kmh~! when it has

moved through 100m.
e CWITL AL LA L i pis” - s A idTiehdags ()
Define resolution of force. How can a force be resolved into its perpendicular components?
~E PSR RSt e P 108 Sk S 16m S0 Tokg ikl ()
Calculate the power of a pump which can lift 70kg of water through a vertical height of 16m in
10s. Also find the power in horse power.

- ML PSPy P oS ML (S S Pt ()
What is meant by evaporation? Explain any three factors on which rate of evaporation depends.
T2 T (L) sem? & LEFL 1 - bS5 003 15N el (L)
A student presses his palm by his thumb with a force of 75N. What would be the pressure under
his thumb having contact area | 5om?.
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Differentiate between land and sea breezes.
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D C B ‘ A Questions / = iy A
1m? 1dm3 lem3 | 1 mm3 :‘Ltn4f4ﬂug 1 6/
{ 1 liter is equal to:
2t} 2 Lot b e st 2 (¢ D
Displacement Power Distance Speed Which is a vector quantity?
e s O N ATy WErudvi Lot bozr S| 3 / '
. 1 ' Y (@rist law of motion is valid only in the 5
Momentum Friction Net force | . ab og
L B R D R ML ™7 crieeen| 4 |/ 3
Wowicsiiin Third law of | Second law of First law of Lot ihiietia sy Kiiowiuss -
motion ' motion motion '
0.866 0.707 0.5 0.00 eeddsindor| 5
Value of sin30° is: ;
et/ W purZL Sl piie 6 | E
27.1 27.5 274 27.3 In how many days moon completes its one ¢
revolution around the earth?
5 .h
[ 3x108ms-! 1x108ms~! 4%10%ms-1 2x108ms-! _ ) e C%JJ‘” 7
| ; The speed of light C is:

o A VLI S/ IR A
Momentum Power | Torque ' Energy Rate of doing work is called; | '
930kgm=3 | 920kgm3 910kgm™3 900kgm~3 - GBS 9

- Density of ice is:
| 98.6°C 37°F 37°C 15°C ks o 0| ¢ X
Normal human body temperature is:
P b bh, s 3 H
0.09Wm-1K-1| 0.08Wm=K-! | 0.07Wm~'K~1 | 0.06WmIK-! . e GBUASA |
| Thermal conductivity of wood is:
&0, 1 s, & n - &

o S| P st ettt w9

Absorption Convection Conduction Radiation In solids, heat is transferred by: ]
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( Part -1 Jil s )

Write short answers to any FIVE parts. -éutl.ejyﬁol.’?l &&;:.Jf
Write the formula of least count of screw gauge and write its value. -ef.—iullif:bb’hn b’u—"ﬁd’; (i)
Define atomic physics and nuclear physics. ...;.’,{ i /“JJ':?/'.’;:::F;_//J b (i)
What is meant by prefixes? ‘-'q_ﬂ/_lfa.. fgd.; (iii)

~EUrSy Ukt e e iy S 32E 100 (iv)
Cheetah can run at a speed of 70kmh ~'. Change this speed in SI unit.
What is the difference between distance and displacement? )_j-u S M&J kel (v)

Vh L Ew A i

Define momentum. Is it vector or scalar?

Write two differences between weight and mass. é— u/m,ﬁu Lasleiis  (vii)
State the law of conservation of momentum. -éut«u)ﬁ'b’fu/é:.fy/ (viii)
Write short answers to any FIVE parts. ' ..-[rli/ﬁéff?'!Skc.JI

-_éugL},iugw[_/mj’/;sufuumr/,i}’w_fu ()

What is the difference between like parallel forces and unlike parallel forces?

Define torque and moment arm. -é i /:UT‘JT..'.&?‘;;!J (i)
Detine the force of gravitation. -_é .-Q/J-Jﬁadgj):ﬂ’v"u’ (iii)
State the law of gravitation. <= Mo I Kc,:—‘-ij;’)’ (iv)
What is GPS (Global Positioning System)? e b/t (,/""._E—J*.;;Ji )GPS  (v)
Define work and write its SI unit. _,&ﬁ <4y 81 "tb’-‘nig*;f..i_l /""d,..f;: (vi)
Define kinetic energy and write its mathematical equation. ..2.7 < F:Pdwu(gj b.ﬂé:: -2 /“’.{}’J )'.@JK (vii)
Define power and its SI unit. ':fr-u-ﬂ"/"dh-’f Sl -‘-':JU’{/!L (viii)
Write short answers to any FIVE parts. _é,;lyﬂﬁ,!mék;é{
Define pressure and write its ST unit, ey Sk mgE SR, )
State Hook's law. AL SR T
Define elasticity. EASF i)
Define specific heat. ~E e (i)
Differentiate between temperature and heat. _'_;‘}:r 6 IJJMQJI.?»I,@/,) v)
What is meant by convection currents in air? ?ci_.,-yk_/au‘ /{f‘g/ b (vi)
Define thermal conductivity. -ggq/:l;&{lfbf; {vii)
What is meant by gliding? ?q_JVgc..f.?l( {viii)

_‘_,__F?/,"' 09 ZJivs -g",-;r{f::zl,iﬁccu.';« IJlr»c:.J:’/ cpd g3 daas
Part - I, Attempt any TWO questions. Each question carries 09 marks.
_ég.li!.;«blzdf.;&:/}'a..u({df;ﬁﬁ;; ()
Derive third equation of motion with the help of speed-time graph.
WenL sy e b3S 200N Sy it d0kg g_éguv&'m‘f)’fu: 3ms? (L)
e Fise

A cyclist of mass 40kg exerts a force of 200N to move his bicycle with an acceleration of 3ms—2.
How much is the force of friction between the road and the tyres?

Jf:fd»‘fqi(ff“:gﬂ e &SN nZ 0 318 VE x-axis « FUuAfl "r_)l/lfc:../u’..) Tdszs ()
et

What is meant by resolution of forces? A force F is making angle 8 with x-axis. Find the values
of its horizontal and vertical components.

el S AL e 4000 S Gyl ]S gute 0P g b2 dms st i ()

A motor boat moves at a steady speed of g45-1. Water resistance acting on it is 4000N. Calculate

the power of its engine.
~EElatia V=V, (14 BAT) 72 ooy P55 Srt ety (L)
Define and explain the volume thermal expansion. Also derive the equation V =V, (1+BAT).
L bl 1mm U1 L 607 10000N 4@4;}%;1/ 5% 10-5m? Ltd’d” W1 (L)
e AnEnd

A steel wire 1m long and cross-sectional area §x |(0~5m? is stretched through 1mm by a force of
10000N. Find the Young's modulus of the wire.
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